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QUESTION 1

In the xy-plane, the graph of a certain quadratic function has a single x-intercept and passes through the point (2.8). If
the x-intercept of the graph is - X what is its y-intercept?

A g
5

-
-

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: C

QUESTION 2

The probability that event R will occur is 0.65. The probability that event T will occur is 0.47.

Quantity A Quantity B
The probability that neither R nor T will 0.47

ocour
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A. Quantity A is greater.

B. Quantity B is greater.

C. The two quantities are equal.

D. The relationship cannot he determined from the information given.

Correct Answer: B

QUESTION 3
Through a steady stream of books, articles, and speeches, he sought to provide (i) analysis of political and
economic issues, thus (ii) , rather than merely touting, the social utility of the scientific method.

A. a dispassionate
B. a jaundiced

C. an intuitive

D. demonstrating
E. undermining

F. praising

Correct Answer: CD

QUESTION 4

For each item, a manager calculates the ratio of the manufacturing cost to the manufacturing time. Which of the
following is closest to the value of the greatest of these eleven ratios, in dollars per minute?

A.25
B.35
C.4.0
D.4.5
E.5.0

Correct Answer: B

QUESTION 5

In the past, the region\\'s literacy support programs had been distributed--abundant in places where literacy
rates were relatively high, absent in places where rates were low.
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A. complexly
B. cautiously
C. sagaciously
D. perversely
E. uniformly

Correct Answer: D
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